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QUESTION 1

What component of the Architecture Repository represents architecture requirements agreed with the Architecture
Board?

A. Architecture Capability

B. Reference Library

C. Architecture Requirements Repository
D. Governance Log

Correct Answer: C

Reference: https://pubs.opengroup.org/architecture/togaf9-doc/arch/chap37.html

QUESTION 2

According to TOGAF, which of the following best describes the purpose of the Architecture Roadmap?
A. To ensure that architecture information is communicated to the right stakeholders at the right time
B. To evangelize the architecture to the end user community

C. To govern the architecture through to implementation

D. To keep the Architecture Review Board informed of changes to the architecture

E. To show progression of change from the Baseline Architecture to the Target Architecture

Correct Answer: E

QUESTION 3

Complete the sentence. A server consolidation project that does not change the operating characteristics of the
applications would require

A. a complete ADM cycle

B. a complete re-architecting change

C. a full revision of the enterprise architecture
D. an incremental change

E. a simplification change

Correct Answer: E
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QUESTION 4

Complete the sentence. The Architecture Landscape is divided into three levels, Capability, Segment, and

A. Baseline
B. Solution
C. Strategic
D. Target

E. Transition

Correct Answer: C

QUESTION 5

According to TOGAF, which of the following best describes the purpose of an Architecture Roadmap?
A. To act as a deliverable container for artifacts created during a project

B. To ensure that architecture information is communicated to the right stakeholders at the right time
C. To govern the architecture throughout its implementation process

D. To provide a high-level view of the end architecture product

E. To show progression of change from the Baseline Architecture to the Target Architecture

Correct Answer: E
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